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AN=2E XM

Joo

SIHGE 1 2022

Oll&bXb= 0 20i14t

SIHFRZE - Lo=XDI2

@ A2S=Xs2 CERED

& Y A = Xl & A =
=g = Qo HEAC UM = = gt = INE-=F FSISLE=pNEel = 2

=i A 308,231 306,831 1,400 | &t A 308,231 306,831 1,400
molz 0 200,000 A200,000 | HISXHA AFSH 4,000 3,600 400
EES= 0 0 0| XA 0 0 0
xrel2 0 0 0| olzt=2gH| 0 0 0
B 0 0 0|72 0 0 0
o233 0 0 0| GiIEr2 0 0 0
P EEEES 303,231 101,831 201,400 | 01 x| 2 304,231 303,231 1,000
== 0 0 0| Xt2e|24ts 0 0 0
(oJp=sel 5,000 5,000 0| o2 2ei24ts 0 0 0
pl[ =l 0 0 0| JIEHKIS 0 0 0
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SIHAL 2022
Oll&bXb= 0 20i14t
SIHFRZE - Lo=XDI2
@ +HE £l )
oo
200 Mlel=¢] 3,000 3,000 0
210 SAHA 2+ 3,000 3,000 0
216 O Kk==¢& 3,000 3,000 0
216-01 =030kt~ 3,000 3,000 0
Os302 0l k== 3,000,000& = 3,000
700 EMUSLUE AN 305,231 303,831 1,400
710 B&US 303,231 101,831 201,400
714 OIXI=22l+ 303,231 101,831 201,400
714-01  OIXI2al= 303,231 101,831 201,400
OUxI= 3l 303,231,000& = 303,231
720 LHEHeH 2,000 202,000 A200,000
722 HEZZ0=2 2,000 2,000 0
722-04  OIE 20| XL 2,000 2,000 0
OUIE=2 OlXt==e 2,000,000& = 2,000
= o g A 308,231 306,831 1,400




SHAHE 20224
Ol &FXb== o 20lA
AHFE - =KDz

® N&EAHE (Crel: M)
A& .BF2 - M . H . JRAE - BHAS X=H HEE=X| SN Hlws2

S XA D 308,231 306,831 1,400
Ll ENE 308,231 306,831 1,400
Lolgx sx 4,000 3,600 400
LOISX| HBEX(LOI=XDIZ) 4,000 3,600 400
LOIST| A X 4,000 3,600 400
201 LBt2AH| 2,000 2,000 0
01 Ar2B2|H] 2,000 2,000 2,000 0

OZEY T2 2% LA 2,000,0002 = 2,000
307 2I2to|™ 2,000 1,600 400
© DIZAEAAIIEE 2,000 2,000 1,600 400

OL0lo] & Al XIg 1,000,0002! = 1,000

OOHHOIE A XI 1,000,0008! = 1,000
WRES(SXIAD) 304,231 303,231 1,000
BEXE(L=2XD12) 304,231 303,231 1,000
1R X2 Ol 304,231 303,231 1,000
602 OIXI= 304,231 303,231 1,000
01 wsix2 304,231 304,231 303,231 1,000

O0lIxI2 304,231,0002! = 304,231
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AHFE - =KDz

(SR &S)
e e Eie

e - i} &kl

ST 3@ | muz | vxz= | oz | R | gaz Ol Xt JIE H ©® HIEXS | BAd | smzay | MA2 | 022 | JIEH | (@-®)
== s 59 | (oxza) Te 20| 20! AFH| AFIH| | ¥ 21=23H | g|2atE | cIZAE INES

2016 DX 355,732 200,000 0 0 0 0 155,732 0 155,010 155,010 0 0 0 0 0 200,722
20178 2,79 0 0 0 0 0 2,796 0 3,500 3,500 0 0 0 0 0 AT04
20189 &= 3,226 0 0 0 0 0 3,226 0 2,900 2,900 0 0 0 0 0 326
20199 &= 3,636 0 0 0 0 0 3,636 0 2,900 2,900 0 0 0 0 0 736
20209 &= 103,804 100,000 0 0 0 0 3,804 0 0 0 0 0 0 0 0 103,804
20219 & 205,000 200,000 0 0 0 0 5,000 0 3,600 3,600 0 0 0 0 0 201,400
2022E = 5,000 0 0 0 0 0 5,000 0 4,000 4,000 0 0 0 0 0 1,000
Al 679,194 500,000 0 0 0 0 179,194 0 171,910 171,910 0 0 0 0 0 507,284
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4. Oixl= & G&S= EAl
SIS ¢ 2020
Ol &FXb== o 20lA
TR LOI=XD|2
217 Bl (9l mis
OIXI 2 ol
2 OIXI (=) HID
20209 =S A 021 L HTH U@ 2022E =L SHTHHD 52Z(O-@)
2l 301,831 503,231 504,231 1,000
OIxIZ2 E 101,831 303,231 304,231 1,000
=g 101,831 303,231 304,231 1,000
Hs= Bl 200,000 200,000 200,000 0
SEMEEDI=Z 200,000 200,000 200,000 0






